1=
i

= A ! :
: 7 D
= = :
— v
wh. , S &F) 7, ‘ ] 7

IS k2=

4

£or

I
m y

>
a

5

.

1

=1

&
’

B

va
A
3

78
S -
4 fors
. 7
= s
Bl | i)
i
\ \ | 2
d “ |
i = A =1
4
S
p: [T

M/MM s 6 SSHIE

5 %) —N\ :
\ D . .
g P \ ¢ - ™ 7 /
- AL ‘
{ N\ A ,‘
I3 ,Y - 7 A
K // ; )
s : —
.\\/M : @
AN J,zrf.u\\
w\r ) //h/\ = 1’
T A
\/- K =
, S

A 42224 w
AN /\V
‘S N - &



2

HABRT PR EET b A

# R H | IEES

% R | 1/5000 | R R

IE5 R

el

|~>j<»

L%

AR —

&




RE N @ X

Pl Al b RILEBD

RIRMETEA = 4.50%x2x3.14x1/2+1.00x2 = 16.13
16. 13 x (978.00+268. 00) = 19968. 94 m2
IREmEAEA = 3.355%x2x (970.00+268. 00) = 8306. 98 m2
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